CEPINEEEEEREFITES

= B | 2013-02-06 = E | &gAM
Z I3 | (El479)E=7[A EY|(ZEROMO)—~ HZ 23Z|E & 47X
e | [XH] (6636)(ZERO Q) Ex7|AF 27| @ HZ2ZAZE X dF+Z— pl6
# 1 o] Of x|
3 Z32|E #x HAA7|E0 ME Z232|E BEAs dos o
7= x4 E, (kg/cm?) m, = 2.300kg/m?*Y AL
m,=145~25t/m® | E=0077ml%{f, | E=8,500 }/f,, (MPa)
E = 0S85E,
° 5 + 3
Ec = 0.85E; 232|E EMdA 4 Ec = 1.18E;
H 1

2012HE 2o <232 E Fx2EA7|E>0] /i EE.
ARl EMFYEE £ 1 O|8diX= 7HEE 222 TotAL 2H o HEE rEE 7
oo 7ol

= A DO

Mot EME 27| WZo| 2013EH0= 2 XFO| &




= B | 2013-02-06 E B | &gAM
Z 3 W | (E1479)E27|Af TI|(ZEROMO)—» B2 232 U ATE G
¥ 9| | [@R)] (6636)(ZERO MQl) E2T|A Wy| @ HREI8|E U BFE— p26

b 1 o] of X

6 MO MAZE Hoo/wo EHouo

O H29 AV E}ERE f,& 550MPas 245HA]| gotof girt,
@ AHELY HAAZ|EFESE f,= 400MPag ZI6HA] Qfolof &

L=

L= T o= |
o ek 84 olRAWS ASE Ak Mo MAYIEE
7.

290 0| a0 M74|7[_g§2;57+ 550MPa0f Cist &=

% % DRIAEHA ZIXTol= Sia| Moo| ai=zie ol st ABIZIS 550MPas ;paa}
v H'j
o] g=S HEIE—J STHYE 00032t 79 27| mZ0lct,

2w Sk
HIo| MAY|IFEE=YE f,= 550MPa 2o 2AVIESEEE: fy = 600MPa

!

2012 2o <232|E AT A 7|=>0| W™ E.
AR EMRES BEH O O|F8ntKl= WEE B2 WotAL ZHMo HEE 82 Yl
.I

MEkol EMEG 27 Eo 2013 0= 2 X[HO| glg AY.




